
�� ������ �����	
	

��
���� ������� �����
�����

���������� ��������� ��������� � 
����� � ���
�������������� ���
���

 �!"	�#$%�
&$ '()'()'* � +	,,!�!%"	�#$%-! ����%!%	.

������/����

+	

!�&�"	. %� 
�	
��%	! �0!%�1 
&!�!%	
��%+	+�&� ,	2	�� � 3�&!3�&	0!
�	� %���

���
#��#$ *''4



��5�&� �-��#%!%� %� ��,!+�! +	,,!�!%"	�#$%-� ���
#��
��6�
6�
�+��
&�!%%�6� �%	�!�
	&!&� 	3) 7)�) �!3	+���

������� ���	
	��
���

+��&�� ,	2	�� 8 3�&!3�&	0!
�	� %���9
���,!

�� ��#!
�� �%+�!1 :�$!�	0

����������� 	��	���
��

+��&�� ,	2	�� 8 3�&!3�&	0!
�	� %���9
���,!

�� ��2�� �	��#�1 ;�	
&��	0

+��&�� ,	2	�� 8 3�&!3�&	0!
�	� %���9
���,!

�� ��5-<�	% ��6!%	1 7��#��	0

������� 	����������

 �3��
�	1 6�
�+��
&�!%%-1 �%	�!�
	&!&

��=	&� 
�
&�	&
. > > +!��5�. *''4 6) � (4 0�
) %� 2�
!+�%		
+	

!�&�"	�%%�6� 
��!&� � *(*)''*)'* � ���
#��
��3

6�
�+��
&�!%%�3 �%	�!�
	&!&! 	3) 7)�) �!3	+��� �� �+�!
�? (@''''9
6) ���
#��#$9 �#)  ��!&
��.9 (A

 +	

!�&�"	!1 3�B%� �2%���3	&$
. � 5	5#	�&!�! ���
#��
��6�
6�
�+��
&�!%%�6� �%	�!�
	&!&� 	3) 7)�) �!3	+���

��&��!,!��& ��2�
#�% > >%�.5�. *''4 6)

�0!%-1 
!��!&��$
+	

!�&�"	�%%�6� 
��!&� ���+��� �)7)



����� �����
����
��� ���	
�

��
�����	�
� ���	
��  ���!3!%%-! 3!&�+- ��0!
&�!%%�6� �%�8
#	2� +	,,!�!%"	�#$%-� ����%!%	1 5!��& 
��! %�0�#� � ��5�&�� �)
7��%���!9 �)�) 
.��%���9 �)�) �	��6�,�9 �)�) �%+��%���) C&	 3!8
&�+- 
&�#	 ��&��#$%-3	9 ��6+� �� 3%�6	� ��2+!#�� ,	2	�	 	 � +��8
6	� !
&!
&�!%%-� %����� 
&�#� ��%.&%-39 0&� #	%!1%-1 ��+��+ %!
3�B!& +�&$ ��#%��!
&%�6� ��	
�%	. 5�#$<�6� 0	
#� .�#!%	19 � #	8
%!��	2�"	. +�!& 
#	<��3 6��5�! ��	5#	B!%	!) � ��+	�,	2	�! ��B8
%�
&$ %!#	%!1%�6� ��+��+� 5-#� ��
��	%.&� %�0	%�. 
 ��5�& �)�)
�%+��%���9 ��% +!� 7�#.) �!#	%!1%-1 ��+��+ � ,	2	�� � �	3	0!8

�	3 	 5	�#�6	0!
�	3 
	
&!3�39 %�0�&-1 � ��5�&�� �) 7�	6�B	%�
	 �) �$D�	%6� ��	�!# � 
�2+�%	D %���6� %�����#!%	. � %���! � 
	8
%!�6!&	�!)

��0	%�. 
 ��5�& ��% +!� 7�#.9 ��,,	%6�9 %!�+%����&%� �&3!8
0�#�
$9 0&� %��.+� 
 	2�0!%	!3 �5=!1 2���%�3!�%�
&	 %!#	%!1%�1
+	%�3	�	 ��#!2%� ��

3�&�!%	! %!��&���6� ��#	0!
&�� ��%��!&%-�
+	%�3	0!
�	� 
	
&!3) �� �%�#	2 0�
&� ��2��#.# 
 �+%�1 
&���%-
���	##D
&�	����&$ %����#!%%-! 3!&�+- ��0!
&�!%%�1 &!��		 +	%�8
3	0!
�	� 
	
&!39 � 
 +��6�1 
&���%- 0�
&� ��+&�#�	��# � 
�2+�%	D
%��-� ��	!3�� 	 3!&�+	�) �#. E&�6� +�
&�&�0%� �
��3%	&$ ����%!8
%	! ��% +!� 7�#.9 
	
&!3� ����%!%	1 
��!%"�9 	

#!+���%	D ��8
&��-� ��
�.=!%� 5�#$<�! 0	
#� ��5#	��"	1) �
�5!%%� �5!+	&!#$%�
��	 E&�3 ���3	%�%	! 
	
&!3- ����%!%	1 
��!%"� 	 !! �5�5=!%	19
	2�0!%	! ��&���1 ��+&�#�%�#� � 
�2+�%	D %���6� %�����#!%	. ��0!8

&�!%%�1 &!��		 +	,,!�!%"	�#$%-� ����%!%	1 � ���&	0!
��1 +	%�8
3	�	)

� ��5�&! ��

3�&�	��!&
. �+%� %!#	%!1%�! ����%!%	! � 0�
&%-�
���	2��+%-�9 ��&���! .�#.#�
$ 	 .�#.!&
. �5F!�&�3 5�#$<�6� 0	
#�
	

#!+���%	1) ��B! ���&�	1 �52�� &����-� � ��3��� ��&��!,!��8
&� ����&	0!
�	 %!��23�B!%) ��
&�&�0%� ��+��5%�D 5	5#	�6��,	D
3�B%� %�1&	9 %���	3!�9 � 3�%�6��,	.� 	 ��5�&�� �)/) �	=!%��9
�)�)  �+��%	0!6�9 �):) ��#!
���9 :) ) ��#!
���9 �);) ��2���9 �)�)
��#	%!"��6�9 �)�) 7�&����� 	 +��6	� ��&����)

� +	

!�&�"	�%%�1 ��5�&! +#. E&�6� ����%!%	. 	
��#$2���%� %�8
2��%	! ����%!%	! �	%25��6� � 
�%+��) ��
&� E&� ����%!%	! 	3!%�D&
����%!%	!3 ����3�&� � G�2��	) C&� B! ����%!%	! 0�
&� ��2%	��!&
��	 �%�#	2! ����5�#	0!
�	� 
	
&!3) ��
&%-1 !6� 
#�0�1 �
&�!0�8
!&
. ��	 ��

3�&�!%		 	 6	�!�5�#	0!
�	� ���!�-� 2�+�0) 7�E&�3�
+#. E&�6� ����%!%	. �����+�%%� ���&�!5#!%	! &!�3	%� >���2	%��8
3�#$%�. ,��3�)>�-5�� �!���6� %�2��%	. ���+	�&���% 0�
&�&�1 !6�

H



	

#!+���%	. � #	&!��&��! ��� �&!0!
&�!%%�19 &�� 	 	%�
&��%%�1)
��%%�! ����%!%	! �
&�!0�!&
. �� 3%�6	� ,	2	0!
�	� ��	#�B!%	.�?
&!��		 
�!�������+	3�
&	9 %!#	%!1%�1 ��&	�!9 6	+��+	%�3	�! 	 &)+)

� ��5�&! +#. ����%!%	. �	%25��6� � 
�%+�� ��

3�&�!%- +�! 2�8
+�0	) � �!���1 6#��! ��

3�&�!%� 3�#���23!�%�! !6� ��	5#	B!%	!9
��&���! 3�B%� &���&���&$ ��� ���
&!1<�D ��2%�
&%�D ������
	8
3�"	D +��� ���!�-� 2�+�0 +#. E&�6� ����%!%	.) �2�0!%	D 3�#�8
��23!�%-� ��	5#	B!%	1 &��+	"	�%%� �+!#.#�
$ 5�#$<�! �%	3�%	!9
%���	3!�9 ��	 0	
#!%%�3 �%�#	2! +	%�3	�	) �	
#!%%�3� �%�#	2�
3�#���23!�%-� ��	5#	B!%	1 5-#� ��
�.=!%� 5�#$<�! 0	
#� 	

#!8
+���%	1) � 
#�0�!9 ��6+� 
��&�!&
&��D=�. 
	
&!3� 5-#� ��#�0!%� 

��3�=$D 6�#!��	%
�	� ��	5#	B!%	19 �%� 0	
#!%%� 	

#!+���#�
$ �
"	�#! ��5�& �)�)  �3��
��6�9 I)7) ���+D3���9 �)�) ��#	%!"��6�9
�) ) ����3!!��19 �)�) ��6%	"��6�9  )�)  	+�����) � 
#�0�! ��28
%�
&%�1 ������
	3�"		 2+!
$ 3�B%� �&3!&	&$ ��5�&-  )�) �#-2	8
%�9  )7) ��2%!"���9 �)7) ��2%!"��� 	 	� �0!%	���9 �) ���%
�%�9
�)C�3!&���9 �) ���!##.9 �) 7�#.<!%��) ��
&$ �!2�#$&�&�� E&	� ��8
5�& 5-#� ��#�0!%� �%�#	&	0!
�	)

� +	

!�&�"	�%%�1 ��5�&! 5-#� ��
&��#!%� 2�+�0� %�1&	 �
! ��8
&�3�+!#$%-! �!�	�+	0!
�	! �!<!%	. 	 	2�0	&$ 	� #���#$%-! 5	8
,����"		9 0&� �!
$3� ��#!2%� +#. +�#$%!1<	� 	

#!+���%	1 �B! 	
���&	0!
��1 +	%�3	�	)

�� �&���1 6#��! 	2�0�!&
. ����%!%	! � 0�
&%-� ���	2��+%-�9 ��8
&���! 3�B%� ��

3�&�	��&$ ��� 0�
&%-1 
#�0�1 ����%!%	. �	%25��8
6� � 
�%+��) � %!3� 3�B%� ��	1&	 �& <	���� 	2�!
&%�6� %!#	%!18
%�6� ����%!%	. J�!+	%6!��9 !
#	 �0!
&$ 
#�5�D +	

	��"	D) ���	!
���	�%&- ����%!%	. �	%25��6� � 
�%+�� K�5�5=!%%�6� ����%!%	.
J�!+	%6!��L �
&�!0�D&
. � %!#	%!1%�1 ��&	�!)

�2�0!%	D +	%�3	�	 �!<!%	1 ��2#	0%-� ���!�-� 2�+�09 +#. +�%8
%�6� ����%!%	. K
�3�6� ����%!%	. �	%25��6� � 
�%+�� 	 !6� 3�+	,	8
��"	1L ��
�.=!%� 5�#$<�! 0	
#� 	

#!+���%	19 %� 
�!+	 %	� ��!�58
#�+�D& ���	�%&-9 ��6+� ���
&��%
&�!%%�. �!�!3!%%�. �+%�) � �#�
8
�	� �5#�
&.� +�%%�! ����%!%	! ��

3�&�	��#�
$ �B! 6���2+� �!B!)

� +	

!�&�"		 ��

3�&�!% 
#�0�1 "	#	%+�	0!
��1 �5#�
&	9 6+!
	2�0!%� 2�+�0� � 5	,����"	.� �#�
�	� 5!6�=	� ��#%) C&� 2�+�0�
��%!! %! ��

3�&�	��#�
$)
 ��� � ������ ������
����� G!#$D 	

#!+���%	1 +	

!�&�8

"	�%%�1 ��5�&- 
�
&�.#� � �%�#	&	0!
��3 	

#!+���%		 
�=!
&��8
��%	. ���
&!1<	� �&&���&����9 � &��B! 	� 
��1
&�) ��� +#. 3�#�8
��23!�%�1 ������
	3�"		 ����%!%	. �	%25��6� � 
�%+�� ��!+��8
#�6�#�
$ %�1&	 �
! ��&�3�+!#$%-! �!�	�+	0!
�	! �!<!%	.) �&���1

A



"!#$D 5-#� 	2�0!%	! 
&���&��- 	� ���!
&%�
&	9 &)!) �����
�� 
�.8
2�%%-� 
 	� �
&�10	��
&$D 	 #���#$%-3	 5	,����"	.3	)

�� 3%�6�3 �%�#�6	0%�. "!#$ ��!
#!+���#�
$ 	 +#. ����%!%	.

 0�
&%-3	 ���	2��+%-3	 � %!#	%!1%�6� �5�5=!%%�6� ��5	0!
��6�
����%!%	. J�!+	%6!��) �#. ���!��1 2�+�0	 � "	#	%+�	0!
��1 �5#�8

&	 ���
&!1<	3	 	%���	�%&%-3	 3%�B!
&��3	 3�B%� 
0	&�&$ �#�
8
�	! 5!6�=	! ��#%-) �5F!�&�3 	

#!+���%	1 5-#� 	2�0!%	! 
&���&�8
�- ���!
&%�
&	 E&	� �!<!%	19 &)!) 2�+�0� �� 3%�6�3 �%�#�6	0%� &�19
��&���. 
&��	&
. 	 � �!���1 6#��! +	

!�&�"		)
������� �	
����� �#. ��%!0%�3!�%�6� �%�#�6� ����%!%	. �	%8

25��6� � 
�%+�� �%�#	&	0!
�	 %�1+!%- �
! ��&�3�+!#$%-! �!�	�+	8
0!
�	! �!<!%	.) 7�%.&%�9 0&� &�	�	�#$%-! 
#�0�	 K
	%���%%-1 	
���&	��,�2%-1 "	�#-L �&3!0�#	
$ 	 ��%!!) ���-1 %�5�� ��&�3�8
+!#$%-� �!<!%	1 
�
&��	#	 �
	33!&�	0%-! "	�#-) ��%-! �%�#	&	8
0!
�	! ,��3�#- +#. %	�9 � 0�
&%�
&	9 ��2��#	#	 	2�0	&$ 	� �
&�18
0	��
&$9 � &��B! #���#$%-! 5	,����"		 �& %	�)

��+�0� 	2 �&���1 6#��- +	

!�&�"		 ��%!! %! 	2�0�#�
$)
!	�	"����# 
��	��$�� �� ����
��

() �%�#	&	0!
�	 %�1+!%%-! ��&�3�+!#$%-! �!�	�+	0!
�	! �!<!8
%	. � �
	33!&�	0%-! �!<!%	.)

*) �
&�10	��
&$ 	 #���#$%-! 5	,����"		 ��&�3�+!#$%-� �!�	�8
+	0!
�	� �!<!%	1)

H)  �=!
&����%	!9 �
&�10	��
&$ 	 #���#$%-! 5	,����"		 �#�
8
�	� 5!6�=	� ��#% � %!#	%!1%�6� �5�5=!%%�6� ����%!%	. J�!+	%6!8
�� K
#�5� +	

	��&	�%-1 ���	�%& ����%!%	. �	%25��6� � 
�%+��L �
"	#	%+�	0!
��1 �5#�
&	)
%�	��
������� � ����
������� �����$	�
� ���	
�� �!2�#$8

&�&- �!���1 6#��- � 2%�0	&!#$%�1 3!�! 3�6�& 
#�B	&$ 5�2�1 +#.
+�#$%!1<!6� 	2�0!%	. 
#�B%�1 	 ���&	0!
��1 +	%�3	�	 ��

3�&8
�!%%�6� ����%!%	.) �%	 ��2��#	#	 
 %��-� ��2	"	1 ��

3�&�!&$ 	28
�!
&%�D 2�+�0� � �2�	3�+!1
&�		 +��� 
#�5�
�.2�%%-� �
"	##.&�8
��� ��% +!� 7�#. � ��,,	%6�)

�!2�#$&�&- �&���1 6#��- %���+.&
. � �5=!3 ��
#! 	2�0!%	. %!#	8
%!1%�1 +	%�3	�	 ��#%��-� ���"!

��9 6+! E&� +	%�3	�� 
�=!
&�!%8
%-3 �5��2�3 2��	
	& �& ��

3�&�	��!3�1 �5#�
&	) �#. 	

#!+���%	.
E&�1 2�+�0	 ��	3!%!%- 
���!3!%%-! 3!&�+- ��0!
&�!%%�1 &!��		
+	,,!�!%"	�#$%-� ����%!%	1 
 5!
��%!0%�3!�%-3 ,�2��-3 ���8

&��%
&��3)
���	����� ���	
�� �!2�#$&�&- +	

!�&�"		 +��#�+-��#	
$ %�


!3	%��! ��,!+�- 3�&!3�&	0!
��6� 3�+!#	����%	. ���
#��
��6� 6�8

�+��
&�!%%�6� �%	�!�
	&!&� 	3) 7)�) �!3	+��� K������+	&!#	 ���8

@



,!

��  )�) ��=!%�� 	 +�"!%&  )�) �#-2	%L9 %� �
!��

	1
��1 ��%8
,!�!%"		 �� ��0!
&�!%%�1 &!��		 +	,,!�!%"	�#$%-� ����%!%	19
��
�.=!%%�1 ('' 8 #!&	D 
� +%. ��B+!%	. 2�
#�B!%%�6� +!.&!#.
%���	 �/9 ���,!

��� �)7) �������� K�.2�%$9 M � (H ��&.5�.9 *''4
6)L9 %� ��%,!�!%"		 3�#�+-� �0!%-� >�!#	%!1%-! ��#%��-! ���8
"!

->K�) � ���6���+9 ( � N 3��&�9 *''4 6)L) ���#�+ %� ��%,!�!%8
"		 � �) � ���6���+! %� &!3� >��&�3�+!#$%-! �!�	�+	0!
�	! �!<!8
%	. +���&�0!0%�1 ��2%�
&%�1 ������
	3�"		 ����%!%	. �	%25��6� �

�%+��>5-# �&3!0!% ��!3	!1 ��6��3	&!&� K��!+
!+�&!#$ ��6��3	&!8
&� ��%,!�!%"		9 +!1
&�	&!#$%-1 0#!% ��� �)�) ����%�� � ��!���L)
!���������� �
%��%-! �!2�#$&�&- �&��B!%- � O ��5#	��"	8

.�9 
�	
�� ��&��-� ��	�!+!% � ��%"! ��&��!,!��&�) ��5�&- P( � HQ
���5#	����%- � 	2+�%	.�9 ��#D0!%%-� � �!�!0!%$ ����)
&
���
��� � 	�'�$ ���	
�� �	

!�&�"	. 
�
&�	& 	2 ��!+!%	.9

+��� 6#��9 
�	
�� #	&!��&��- 	 +��� ��	#�B!%	1) �5=	1 �5F!3 +	
8

!�&�"	�%%�1 ��5�&- ((@ 
&��%	")

7!���. 6#��� ��2+!#!%� %� N ����6��,�� 	 
�+!�B	& N �	
�%���
	 A &�5#	"-) �&���. 6#��� ��2+!#!%� %� A ����6��,�)

��� ��	#�B!%	. �&%�
.&
. � 6#��! R 	 
�+!�B�& &!�
& ���6��339
%��	
�%%-� %� .2-�! STUVTW � 
�!+! XYWZ[\ @)')

 �	
�� #	&!��&��- 
�+!�B	& 4M %�	3!%���%	1)
&	���"���� ���	
�� �� ��!+!%		 �&��B�!&
. ��&��#$%�
&$ &!8

3- +	

!�&�"		) 7�	�!+!% �52�� #	&!��&��-9 %!��
�!+
&�!%%� �&%�8

.=	1
. � &!3�&	�! +	

!�&�"		) �%�0	&!#$%�D 0�
&$ "	&	����%%�1
#	&!��&��- 
�
&��#.D& ,�%+�3!%&�#$%-! 3�%�6��,		9 �-<!+<	! �
��
#!+%	! 6�+-) ��%� ���&��!9 � 2�&!3 ��2�!�%�&�! ��	
�%	! �
%��8
%-� �!2�#$&�&��)

� ]()( K� �!���3 ����6��,! �!���1 6#��-L ���+	&
. &� ����%!%	!9
��&���! .�#.!&
. �5F!�&�3 	

#!+���%	. �!���1 0�
&	 +	

!�&�"		?

ξ̇ = d exp(−iα)Dξ + ξ − (1 + ic)ξ|ξ|2. (1)
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(
ξ1(t)
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ξ(t) = y exp(iσt) (y ∈ C
2, σ ∈ R). (2)
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ρ̇ = εκρ + bρ3.
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ξ(t) = ρa

(
1

−1

)
exp(iσat),

6+! ρ2
a = 1 − 2d cos α, σa = 2d sin α − ρ2

ac. �% 
�=!
&��!&9 !
#	 1 −
2d cos α > 0. ��3!%�

ξ(t) = ρa(t) exp(iσat)[g1 + g1v] (4)
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v̇ = −d exp(−iα)Dv − (1 + ic)ρ2
a[v + v + 2vv + v2 + v|v|2], (5)
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yj = ρj exp(iϕj)(j = 1, 2), ψ = ϕ2 − ϕ1, λ = ρ2/ρ1, ρ
2
1 = R/λ, ρ2

2 = Rλ.
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iσ = d exp(−iα)(−1 + λ exp(iψ)) + 1 − (1 + ic)R/λ,

iσ = d exp(−iα)(−1 + exp(−iψ)/λ) + 1 − (1 + ic)Rλ.
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η2 + (4p − q2(1 + h2))η + 4(p2 − q2) = 0,

6+! p = 1 + cos2 α − c sin α cos α, q = d1(1 − d cos α)/d, h = b1/d1,
d1 = c sin α − cosα, b1 = c cos α + sin α, λ + 1/λ =

√
η + 4.
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ẍ1 − 2εẋ1 + x1 + x2
1ẋ1 + bx3

1 + εγ(x1 − x2) + εβ(ẋ1 − ẋ2) = 0,

ẍ2 − 2εẋ2 + x2 + x2
2ẋ2 + bx3

2 + εγ(x2 − x1) + εβ(ẋ2 − ẋ1) = 0.
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vt = (1 + ic)(1 − |v|2)v − id∆v,

v(t, y + 2π, z) = v(t, y, z), vz|z=0 = vz|z=π = 0.
(11)
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ρ̇1 = ρ1 − ρ1(a1ρ1 + b1ρ2), ρ̇2 = ρ2 − ρ2(b1ρ1 + a1ρ2). (13)

(H



7�	 c2 �= (33±√
873)/108 
	
&!3� +	,,!�!%"	�#$%-� ����%!%	1 K(HL

	3!!& &�	 %!%�#!�-� 	2�#	����%%-� 
�
&�.%	. ���%��!
	. (a1+b1 >
0 ��	 �
!� cL?

E1 : ρ1 = 1/a1, ρ2 = 0; E2 : ρ1 = 0, ρ2 = 1/a1; E3 : ρ1 = ρ2 = 1/(a1+b1).
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ρ̇1 = ρ1[1 − (a1ρ1 + b1ρ2)], ρ̇2 = ρ2[g − (b1ρ1 + a1ρ2)]. (16)
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